Wyniki analizy statystycznej w zakresie sredniej zdawalnosci oséb szkolonych w danym osrodku za 2019 rok.
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SZKOLA KIEROWCOW 00020417 | AL - T - - - 6 [0 | 0% _ 0 %
TADEUSZ MURAWSKI A 1| 10% | -1- - 1] 1 Jwo0n| 3 [1 [3333%] 100% | 33,33 %
B 39 |23 [60,53% | 71 [17 | 2394% [ 44 | 28 [63.64%] 63 |24 |38,09%| 61 44 % | 30.60 % . .
B+E B - 5 [6250%| - | - - 2 [ 2 | 100% _ 7005 |83 74 %] 33,53 %
c 2 | 1 [5000%| 5|2 |4000%| 2 | 2 [100%| 3 | 2 |6667%| 750 50 %
C+E N - 10 | 0% |- | - - - - - _ 0%
T B - = - - 2| 2 [100%[ 5 | 3 [60,00%| 100 % 60 %
OSK PRO-AUTO SP. CYWILNA | 00040417 | B 2 | 2] 100% | 111 | 100%] - | - - - - - 9 9 9 0
ANDRZED | MARGIN 100 % 100% | 100% | 100 %
ROSZKOWSKI
OSRODEK SZKOLENIA 00060417 | B - - - - 210 [ o% | - |- - 5 - S -
KIEROWCOW , SIRY” 0 % 0%
OSK ,SIRY” 00070417 | B 1] 1] 100% |21 | 50% [4] 0 |0% | 5|1 | 20% | 20% |2857% | 20% | 28,57 %
OSK BOZENA UTNICKA 00080417 | B - - 4]0 | 0% | - | - = 5 |1 | 20% _ 11,11% ] 11,11 %
+COLLEGE” AKADEMIA 00120417 | AM - |- - - |- - 6 2 133334 3 |2 |6667%| 33,33% | 67,67 %
NAUKITTECHNIKI JAZDY AL 1 1] 100% |- |- - 7 2 |2857A 5 |3 |6000%| 3750% | 60 %
KRZYSZTOF CHOJNICKI !
A - |- - = |- - 1] 1 [100%| 10 |5 | 50% 9 9
100% | S0% |57 53 06| 36,26 %
B 81 | 46 | 56,79 % |166 (53 | 3193% [ 85 | 51 | 60% | 140 | 54 | 3857 % | 58.43 % | 51.94%
B+E B - 1 1] 100% |- - - 3 |2 |6667% _ 75 %
c 5|4 80% 103 | 30% | - | - - B - 80 % 30 %
C+E B - 6 (2 | 3% | - | - - 9 |3 |3333% _ 33,33%




